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SAMPLE PAPER - 2008
Class - X

MATHEMATICS
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Time: 3 hrs                                                                        Marks: 80


General Instructions:

       ( I  ) All questions are compulsory.

      ( ii )  The question  paper consists of 30 questions divided  into four sections –A, B, C  

              and  D. Section  A  contains  10  questions of  1  mark  each, Section  B  is of  5  

              questions of  2 marks  each, Section  C  is of 10 questions of 3 marks each  and  

             section  D is  of  5 questions of 6 marks each. 

   . ( iii )   There  is  no  overall choice. However, an internal choice  has been provided in  

              one  question of two marks each, three questions  of three marks each  and two

             questions of six marks each.

    ( iv )  In  question   on  construction,  the  drawing  should be  neat and  exactly as per 

            the given measurements.

   ( v )  Use of calculator is not permitted.  


SECTION A

( Qns 1 – 10 carry 1 mark each )

1. Find  the  prime  factorization  of   2310.
2. Obtain  the  zeros  of  the  polynomial  ( x + 2 ) ( 2x – 1 ) ( 3x – 2 ).
3. What  will  be  the  possible degree of the remainder when we divide x4 + 10x3 – 9 by x3 + 3?
4. Find  the  value of k for which the equation 2x2 – kx + x + 8 = 0 will have real and equal roots.
5. A sheet of paper is in the form of a rectangle ABCD in which AB = 40cm and AD = 28cm. A  semicircular  portion  with  BC  as diameter is cut off. Find the area of the remaining part of the rectangle.

 D                                         C

    28cm

  A                                        B

   40cm
6. Find  the  mode  when  mean  =  15.6  and  median  =  15.73.

7. In fig. a  circle  touches all the four sides of a quadrilateral ABCD whose sides are 

      AB = 6cm, BC = 7cm and CD = 4cm. Find AD.

                                           D      R         C



S                      Q



A        P         B

8. A  missing  helicopter  is  reported  to  have crashed somewhere in the rectangular region shown in fig given below. What  is the probability that it crashed inside the lake shown.



   2km
Lake

 
                    6km
 4km


10km

9. A  tangent  PQ  at  a  point  P  of a circle of radius 5cm meets a line through O at a 

      point Q so that OQ = 12cm. Find the length of PQ.

10. The length of the shadow of a tower is 1/√3 times that of its length. Find the angle of elevation of the sun.

SECTION B

( Qns 11 - 15 carry 2 marks each )

11. A  man  saves Rs 5  on  day 1,  Rs10 on day 2 and Rs 15 on day 3 and so on. How much money will he save in the month of  February 2008?

12. If cosθ  -  sinθ  = 1, show that cosθ  + sinθ  =  1 or  -1.

OR

       If A = 300, verify  that  tan2A  =     2tanA 


  1 – tan2A

13. In  Δ ABC,  DE // BC. If  AD  =  4, AE  = 8, DB = x – 4 and EC = 3x – 19, find x.

A

          

      4           8
                                      D                 E

                               x – 4                       3x - 19 
                 

B                               C   

14. A point P is at a distance of √10 from the point ( 2, 3 ). Find the coordinates of the 

      point P if its y coordinate is twice of  the x coordinate.

15. Two  black  kings and two black jacks are removed from a pack of 52 cards. Find the probability of getting  i ) A black card        ii) A jack, queen or king. 

SECTION C

( Qns 16 – 25 carry 3 marks each )

16. Check whether x2 + 3x + 1 is a factor of  3x4 + 5x3 – 7x2 + 2x + 2.

17.  Prove that  √5 is irrational.

18.  Find   the   values   of   P  and   q for which the following system of equations has  

       infinitely many solutions.

       2x  +  3y  =  7

       ( p + q ) x  +  ( 2p – q ) y  =  21 

OR

       Solve:       5           +        1        =   2

                     x – 1                y – 2

                       6            -          3        =  1

                     x – 1                 y - 2

19. Determine the number of terms of the A.P 3, 5, 7, 9, …….., 201. Also find the 12th term from the end.

OR

      Find  the  sum  of all natural numbers between 50 and 500 which are divisible by 7.

20. Prove that :    secθ   +  tanθ   -  1    =    1  + sinθ
                            tanθ    -  secθ   + 1              cosθ

21. Prove  that  the  quadrilateral with vertices ( 4 , -1 ), ( 6, 0 ), ( 7 , 2 ) and ( 5, 1 ) is a rhombus. Is it a square?
                           
OR
      If   the   area  of  the triangle  formed by the vertices ( a, 0 ), ( 1, 1 ) and ( 0, 2 ) is 4 

      square units, find a.

22. The  line  joining  the  points  ( 2, 1 )  and ( 5, -8 ) is trisected at the points P and Q. Find the coordinates of P and Q.

23. Draw a pair of tangents to  a circle of radius 5cm which are inclined at an angle of 600.

24. In fig. l  and  m are two parallel  tangents  at  A  and  B. The tangent at C makes an intercept DE between l and m. Prove that LDFE = 900.

                                               
A           D        l

                                                                                                    F

                                                                                                                   C

      
          m


                B        E  

25.  The  area  of  an  equilateral  triangle  ABC  is 17320.5cm2.With each vertex of the 

       triangle  as  centre,  a circle is drawn with radius equal to half the length of the side 

       of the triangle. Find the area of the shaded region.(Use π = 3.14 and√ 3 = 1.73205 )


                                                         A



            B                    C 

SECTION D

( Qns 26 – 30 carry 6 marks each )

26. Determine  graphically  the  coordinates  of  vertices  of  the triangle formed by the 

lines  whose  equations  are   x + y = 6,  y = 2x  and  y = x. Also find the area of the 

      triangle so formed.

27. The angle of elevation of an unfurnished tower at a point of distance 120m from its base is 450. How  much  the  height  must be raised so that the angle of elevation be 600? 

28. Prove  that  the  ratio of the areas of two similar triangles is equal to the ratio of the squares of their corresponding sides.                             S                     R   
Using   the   above  do   the  following:

In fig. PQRS  is  a  trapezium in which                                    O 

PQ // RS  and PQ = 3RS. Find the ratio

of   the   areas   of   Δs POQ  and  ROS.


  P                                        Q
OR
             Prove that in a right triangle the square of the hypotenuse is equal to the sum of the 

             squares of the other two sides.

             Using the above do the following:

             Two poles of heights 6m and 11m stand on a plane ground. If the distance between 

             their feet of the poles is 12m, find the distance between their tops. 

29. A  circus  tent  is  cylindrical  to  a  height 3m and conical about it. If its diameter is 105m  and  the  slant  height  of  the  conical  portion is 53m, calculate the length of canvas 5m wide to make the required tent.
OR

             A bucket is in the form of a frustum of a cone and holds 28.490 litres of water. The

             radii of the top and bottom are  28cm and 21cm respectively. Find the height of the 

             bucket. ( 1 litre = 1000cm3 , take π = 22 / 7 ) 

30. A  survey  regarding  the  heights  ( in cm )  of  51  girls  of class X of a school was 

      conducted  and  the  following  data  was  obtained:

	Height ( in cm )
	Number of girls

	Less than 140
	4

	Less than 145
	11

	Less than 150
	29

	Less than 155
	40

	Less than 160
	46

	Less than 165
	51


       Find the median height.
                                                                                     M . P . S U R E S H   B A B U
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ANSWERS

	1.     2 x 3 x 5 x 7 x 11
	11.      Rs 2175
	21.  yes, it is not a square
      or  a = 10 or -6

	2.      -2, 1/2, 2/3    
	12.     ……. Or ……
	22.  ( 3, -2 ), ( 4, -5 )

	3.       2, 1, 0
	13.    x = 11
	23. ……..

	4.       9, -7
	14. ( 3, 6 )   or  ( 1/5, 2/5 )
	24. ………     

	5.      812cm2
	15.  11/24,     1/6
	25.  1620.5cm2

	6.       15.99
	16.    yes
	26. ( 2, 4 ),( 0, 0 ),( 3, 3 ),                         area = 3sq.units

	7.         AD = 3cm
	17.   …….
	27.       87.6m

	8.        2/15
	18. p =5,q = 1 or x = 4, y = 5
	28. ………,  9 : 1
         or ……., 13m

	9.      PQ =  √119cm
	19.  100, 179   or  17696
	29.    1974m

	10.      600
	20.  ………..
	30.    146.03m
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